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John must work at ieast 20 hours a week to supplement his income while attending
school. He has the opportunity to work in two retail stores. In store 1, he can work be-
tween S and 12 hours a week, and in store 2 he is allowed belween 6 and 10 hours. Both

ge. In deciding how many hours (O work in each store, John
tress. Based on interviews with present employees,
sc: ~ 10. the stress factors are 8 and 6 at

stress mounts by the hour, he assumes that the total

stores pay the same hourly wa
~ants to base his decision on work s
John estimates that, on an ascending scaleof 11
stores 1 and 2. respectively. Becausc
end of the week is proportional to the num
h store”

her of hours he

stress for each store at the
works in the store. 1

{ow many hours should John work in ¢
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A Blending Problem: A manufacturer of artificial sweetener blends 14
kilograms of saccharin and 18 kilograms of dextrose to prepare two new
products: Sweet and Low-Sugar. Each kilogram of Sweet contains 0.4 kilograms
of dextrose and 0.2 kilograms of saccharin, while each kilogram of Low-Sugar
contains 0.3 kilograms of dextrose and 0.4 kilograms of saccharin. If the profit
on each kilogram of Sweet is 20 cents and the profit on each kilogram of Low-
Sugar is 30 cents, how many kilograms of each product should be made to
maximize the profit?
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Show & Sell can advertise its products on local radio and television {TV).The advertising
budget is limited to $10,000 a month. Each minute of radio advertising costs $15 and each
minute of TV commercials $300. Show & Sell likes to advertise on radio at least twice as
much as on TV. In the meantime, it is not practical to use more than 460 minutes of radio
advertising a month. From past experience, advertising on TV is estimated to be 25 times

as effective as on radio. Determinc the optimurn affocation of the budget to radio and TV
advertising.
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